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PAPER CODE : 05
PAPER-III
ECONOMICS

Note : This paper contains Seventy Five (75) objective type questions, cach question carrying

two (2) marks. Attempt all the questions.

e G o e ( 75 ) og- Rrered v ¥ 1 veE we R ( 2) oiw ¥ et e F e

1.

A Pareto efficient allocation implies all
of'the following, except—

(A) Resources are fully employed

(B) Economy is operating on
production possibility frontier

(C©) MRS=MRT

(D) Somebody can be made better off
without making anybody worse
oft

Why there is allocative inefficiency un-

" dermonopoly—

(A) Price =marginal cost
(B) MR=MC

(C) Price>MC

(D) Price>AC

Suppose a firm is operating in perfectly

competitive product market and has

monopsonistic power in the factor mar-

ket, then factor labour is paid as—
(A) w<VMPL=MRPL
(B) w=VMPL=MRPL
(C) w<MRPL <VMPL
B) w>MRPL=VMPL

Shape of indifference curve for perfectly
complementary goods is—

(A) L-shaped

(B) Straightline

(C) convextotheorigin

(D) U-Shaped
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In case of Giffen goods, the demand-

curve is— '

{A) Upwardsloping

(B) Downward sloping

(C) Parallef to X-axis

D) Parallelto Y-axis :

Which of the following isnota part of

the coinage “Trinity of impossibility :’

{A) Independent Monetary Policy

(B) Independent fiscal policy

(C) Fixed exchange rate policy

(D) Independent industrial policy

The principle of accelerator is based

upon assumption of —

(A) Constant capital-output tatio and
. vsence of excess capacity

(B) Absence of excess capacity and
constant demand

{C) Constant capital-labour ratio and
stable supply

(D) Nonofthese

1M curve shows all the combinations
of—

(A) Interest rate and money stock
(B) Interest rate and money supply
() Income and money supply

(D) Income and interestrate

An important conclusion of Baumol-

Tobin’s approach to transaction demand

for money is—

(A) Thetranscationdemand for money
rises less than proportionately to
the rise inincome

(B) Transaction demand for money is
interest elastic

(C) BothA&B
(D) Neither AnorB
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10.

11.

12.

13.

14,

Under flexible exchange rate regime,
which of'the follewing is true—

(A) Only fiscal policy is effective

(B) Only Monetary policy is effective
(C) Onlytrade policy is effective

(D) Industrial policy is effective
Harrod-Domar model, in its simplest
form, predicts neutrality of growth rates

_ because of the assumption of—

(A) Constant elasticity of substitution
of factors

(B) Constant returns to capital

{C) Constant returns to labour

(D) Allofthese

Major part of the variations-in per-

capita income across countries are

explained by—

(A) Variations in population growth
and government spending

(B) Variations in investment spending
and corporation tax rates

(C) Variations in population growth
and savings rate

(D) Variations in savings and
investment

Accroding to Marx, what leads to capi-
‘tal accumulation-—-

(A) Purchase of improved machines
(B) Surpluscapital

(C) Surpluslabour

(D) Surplussavings

Various types of indivisibilities, mentioned
in ‘Big-Push’ theory of growth includes
indivisibilities in—

(A) Demand

(B) Production

(C) Supplyof savingé

(D) Allthe above
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15. Endogenous growth theory empha-

sizes—

(A) Roleof investment in physical
infrastructure )

(B) Roleofhuman capital

(C) Roleofenvironment protection

(D) Roleofendogenous money

16. "Which of the following has the largest

share in central government tax collec-
tions—

@A) Personal income tax

(B) Corporation tax

(C) Exciseduty

(D) Customduty

17.  Center and states, taken together, which

of the following statement is true—

(A) Directtax collections are more
than indirect tax collections

(B) Indirect tax collections are more
than direct tax collections

{C) Bothcontribute equally

(D) Noneofthese '

18. For states taken together, which of the

following holds true—

(A) Directtax collections are more
thanindirect tax collections

(B) [Indirect tax collections are more
than direct tax collections

(C) Bothcontribute equally

(D) Noneofthese

19. Tor union government of India, taken

alone, which item has the largest share
intotal spending—

- (A) Defence expenditure

(B) Interest paymenisi
(C) Subsidies .
(D) Educdtion - Vo
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20.

21.

22.

23

24.

Theratio of revenue and capital account

‘spending in total spending by centre and

state governments taken together is—

(A) 85:15

By 75:25

(C) 65:35

D) 55:45

Suppose two countries remove all tar-

iffs on each other’s products and estab-

lish a common set of tariffs against the

rest of the world, they have formed—-

(A) Free-trade area

(B)  Econoric union

(C}y Commonmarket

(D) Customs union

Optimum tariff rate for a country is that

rate that maximises—

(A) Quantity of imports

B) Terms oftrade

{C) . Balance oftrade

(D) Welfare

Suppose a country joins exchange rate

area. Now the country, for the purpose

of stabilizing output and employment—

(A) Lossesits ability to use fiscal and
monetary policy

(B) Lossesitsability to use fiscal and
exchange rate policy

(C) Lossesits ability to use exchange
rate and monetary policy

4(D) Losses its ability to use exchange

rate policy only
There have been substantial shift in pat-
tern and composition of trade items of
developing countries. Nowadays, in
world markets, developing countries
tend to rely primarily on exports of-—
(A) Manufactured products
(B) Primay products
(C) - Agricultural products
(D) None of these
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25.

26.

27.

28.

29.

Anexport tax has one of the following

effects, in the case of a large country—

(A) Benefitsthe exporting country only

BJ Raises consumer welfare inboth
the exporting and the importing .
country o

(C) . Increases price of the good in the
unpomng country

(D) Does not change price of the good
in the importing country

Which of the following RBI classifica-

tion of money stock is correct—

(A) M, =currency+ demand

. dep051ts+oﬂ1er deposits with RBI

B) M,=M+ savings deposits with
post ofﬁmes and savings banks

(C) M,=M,+time deposits of al
commercial and cooperative .
banks |

(D) Alloftheabove

Theory of bank rate policy deals with—

(A) Demand forcredit effect

(B) Costofcrediteffect

(C) Creditavailability effect

(D) Allofthe above
The most active and sensitive part of the
organized moeny market is the—
(A) .Call money market
(B) Commetcial bills market
(C) Treasury bills market
(D) Guiltedged market
High powered money means—
(A) Currency with the public +excess
reserve with the commercial
banks
(B) Cashreserves with the banks
¢y Currency with the public
" Deposits with commercial banks
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30.

31

32.

33

34.

35.

A fall in CRR leads to—
(A) Increase in availability of credit
(B) Afallincostofcredit

(C) Decrease in availability of credit

(D) Increasein costof credit

Which one of the following types of
industries does not contribute to
industrialization in the long run—

(A) Export intensive industries

(B) Consumer goods industries

(C) Tmportsubstituting industries

(D) Capital goods industries

The chairman of Monopoly Enquiry
Commission (1964) was—

(A) RK.Hazari

(B) K.C.Pant

(C) RajKrishna

(D) Dr. Praveen Jha

The advantage of small scale industry

s—

(A) Capital light

(B)  Capital intensive

(C) Latentresources

(D) BothAand C

The main objective of the Industrial policy

1991 was to—

(A) Openthe economy for free
market play

(B) Dismantle public enterprise

(C) Import promotion

(D) Allofthe above

Privatizations refers to—

(A) Sale of private firms to the
government sector

(B) Sale of public enterprises to the

. private sector

(C) Sale of corporate bodies to
venture capitalists

(D) Nationalizing the venture
capitalists
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36.

37.

38.

39.

40.

When population reaches carrying ca-
pacity—
(A) Mortality rate=Birth rate
(B} Mortality rate>> Birth rate
(C) Mortality rate <Birth rate
(D) None ofthe above
Population explosion in India has oc-
curred in the last—
(A) 500 years
B) 300years
(C) 100 years
(D) 50years
What does the “Tragedy of the Com-
mons” referto 7
(A) ~ The struggle between short-term
individual welfare and long-term
> environmental stability
The inability to meet human needs
through compromise
It relates to the class struggle
between farmers and herders
inmedieval Europe
The ability to meet humanity’s
current needs without compro-
mising the ability of future
generations to meet their needs
The Essay on the Principle of Popula-
tion was written by—
(A) The World Bank.
(B) Thomas Robert Malthus
(C) JulianSimon
(D) Abraham Lincoln
The Club of Rome study, The Limits to
Growth, suggests that as natural re-
sources diminish :
(A) Capital increasingly replaces labor
®B) Technological change
compensates for capital depletion
(C) Costsrise, leavingless capital for
future investment
Contingent valuation becomes
critical

®)
©

)

©)
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41.

42,

43.

44,

45.

46.

Dr. K.N. Raj committee was related

with— :

(A} Union tax system reforms

(B) Educational reforms

(C) Recommendlevy ofcapital gains tax

(D} Recommend imposition of
agricultural holding tax

‘Which of the following is not a part of

land reforms in India—

(A) Ceillingsonland holdings

(B) Zamindari abolition

(C) Consolidation ofland holdings

(D) Agricultural holdings tax

Agricultural price commission in India

has been set up to ensure that—

(A) Farmers get full employment

(B) Farmers receive a remunerative
prices for their produce

(C) Farmers get fertiliser at fair prices

(D) Farmers get fair prices for organic
agriculture only

The Green revolution in India has resulted

n—

{A) Huge increase in wheat

production

(B) Increaseinregional inequalities

(C) Change in cropping pattern

(D) Alloftheabove

Which of the following is not a cause of

low productivity in Indian agriculture—

(A) Fragmented land holdings

(B) Outdated technology

(€) Poorlandrelations

(D) Highprocurement price

A firm knows that the demand function

for one of its product is linear. It also

knows that it can sell 1000 units when

the price is Rs. 4 per unit, and it can sell

-1500 units when the price is Rs. 2 per

unit. The marginal revenue finction of the

firm will be given as—

(A) 10—(x/125)

B) 8-(x/125)

(C) 8-(x/250)

O 4-(x/125)
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47.

48,

49.

50.

51.

52.

If the demand function is p = 4-5x

(where ‘P’ is price and X’ is output), the

value of x at which demand wilthave unit

elasticity is—

(& @715

® /2

© @/3)

(D) Noneofthe above

A manufacture’s marginal revenue

function is MR = 2 — 6x (where X’ is

output). The demand law will be—

(A) p=2-8x

® p=2-3

€) x=2-3p

®) p=8-3x

The price elasticity of demand fora com-

modity is p/ x3 (where ‘p’ is price and

‘x’ is output). The demand function, if

the demand is 3 when the price is 2, will

be givenas—

A) p=11-(2%/3)

® p=10-(*/3}

(©) p=11-(4<13)

®) p=11-0</3)

An existence of slack variable inthe fi-

nal simplex table indicates that the—

A) Solution isnot feasible

(B) Resourceisnot fully utilized.

(C) Solutionis multiple optimal

(D) Resourcehasbeen optimally
utilized.

Which of the following is atypical char-
acteristic of financial asset return time-
series 7

(A) Their distributions are thin-tailed
(B) Theyarenot weakly stationary
(C) Theyarehighly autocorrelated
(D) Theyhaveno trend

If a qualitative variable has ‘m’ catego-
ries, we shall introduce only
dummy variable(s).

@

®) (m-1)

€ (m-2)

© m+1)
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54.
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56.
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58.

According to one of the assumption of
the classical linear regression model. vari-
ance of each disturbance, conditional on
the chosen value of the explanatory vari-
ables, is some constant number., This is
the assumption of

(A) Normality

(B) Hetroscedasticity

(C) Causality

(D) Homoscedasticity

Akaike’s information criteria is used for
judging of a regression
model.

(A) Structural changes

(B) multicollinearity

(C) adequaccy

(D) Serial correlation

Which of the following test is commonly
used for testing normality ?

(A) Park Test

(B) Durbin-Watson d statistic test
(C) Goldfeld-Quandt test

(D) Jarque-Beratest

Suppose, government spends a lot of
money on labour skill improvement
programme. According to endogenous
growth theory, which of the following will
Tesult in the long run—

(A) Economic growth will increase
(B) Investment will increase

(C) Capital-tabour ratio will increase
(D) Capital-output will increase
When players have good reasons to
believe that one equlllbna is more
“Natural” that the others, it is called a—
(A) Nash Equilibrim of the game

(B) = Mixed strategy equilibrium

(C) Saddle point of the game

(D) Focal pointof the game

“Eurosclerosis” is the term associated

with—

(A) European countries debt crisis

(B) Excessive government regulation
and welfare state

'(C) Disguised unemployment and high

wage
(D) No :ofthe above
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Inthe Solow model, in the long run the
economy’s growth rate of output de-
pends on the growth rate of—
(A) Physical capital stock
(B) ‘Effective’ labour input (population
growth)
Effective fiscal policy

©
(D) Central bank’s credit policy

According to Barro-Ricardo equiva-
lence theorem, today’s holding of gov-
ernment bonds—

(A) Representnet wealth

(B) Dono represent net wealth

_(C) Sometimes they do, sometimes

may not
(D) Actually,are the asset for the
] governermnt

Theproportionate difference between the

ciifrent forward exchange rate value ofa

currency and its current spot valueis—

(A) Investment

(B) Spotpremium

(C) Forward premium

(D) Currency-option

Mercantilism held that—

(A) Silveralone wasthe mainstay of
national wealth.

(B) Goldalonewas the mainstay of
national wealth.

(C) Silverand gold were the mainstays
of national wealth.

(D) Silverand gold are not important
for the national wealth of a
country

Tmmiserizing growth could occur to poor

countries when it experiences :

(A) Import-based economic growth

B) Export-based economic-growth .

(C) Growthinits non-traded sector.

(D) None ofthese

Under the gold standard— )

(A) A perpetual surplus is impossible

(B) A perpetual deficitis possible.

(C) Aperpetual surplus s impossible,
but a perpetual deficitis possible.

(D) Aperpetual deficit is impossible,
but a perpetual surplus is possible.
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66.
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70.

©

Governments use monetary policy to
reach—

(A) Internal balance

(B) External balance

(C) Internal but not external balance
(D) Internal and external balance
Share of agriculture and allied acitivites
in GDP (2011-12, advance estimates)
inIndiais—

A) 22.7%

B) 19.6%

(©) 25.9%

DO 13.9%

Contribution (Share) of agriculture &
allied sectors in total Gross Capital For-
mation (at 2004-05 prices) in 2009-10
{provisional estimates) is—

Q) 11.5%

®B) 7.1%

) 149%

O 18.1%

Rashtriva Krishi Vikas Yojana (RKVY)
was launched in

(A) 2007-08

B) 2003-04

(C) 2000-01

D) 2011-12

National Agricultural Insurance Scheme
(NAIS) provides financial support to
farmers in the event of failure of crops
asaresult of—

(A) Theftof agricultural implements
(B) Family disputes

(C) Natural calamities

(D) None of the above

Allocations of food grains per month for
the Antyodaya Anna Yojana (AAY) for
below poverty line (BPL) families are
being made at—

(A) 35kgper family

B) 30kgper family

25 kg per family

D) 40kgperfamily
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75.

Planning process in India was initiated

with a view to—

(A) Promote econonic growth

(B) Promote balanced re gional
development

(C) Promote desirable allocation of

Tesources across sectors
(D) Alloftheabove

India’s centralised planning strategy was

based on planning strategy of—

(A) The United States

B) Formerly the USSR

(C) Japan

(D) TheUnited ngdom

The second five year plan in India laid

emphasis on expansion of—

(A) Small scale industries under the
ownership of government

(B) Capital goods industries under the

v ownership of government

(C) Heavy industry under private
sector ownership

(D) Expansionof public sector banks
with a view to meet credit needs

Which of following human development

related indices incorporates information

onwomen’s soc10-econ0mlc status—

(A) HDI

B) WPL

() GDI

(D) GDP

Which of the following is not a tool for

expansionary fiscal policy—

(A) Reduction inincome {ax rates

(B) Increase in transfers payments

(C) Increase inspending on public
works programme

(D) Increase in indirect taxes
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